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TutorialO3 Answers for No.6310001

x| =-101] -9 -8 -7 -61] -5 -4 -3 -2 -1 O} 121 211 3| 41 51| 61 71 81 9] 10 |
Ans01 : £(x)| -7 | =71 =71 =71 =71 =71 =71 =71 =71 =71 =71 =711 =71 =71 =71 =71 =711 =71 =11 =71 =71
Ans02 : f(x)| 26 | 23 | 20 | 17 | 14 | 11 | 8 | 5 | 2! -1 -41 -7 -10 | -13 | =16 | =19 | =22 | =25 | =28 | =31 | -34 |
Ans03 : f(x)| 103 | 84 | 67 | 52| 39| 28] 19| 12| 7| 41 31 4 7] 12| 19| 28| 39| 52| 67| 84 | 103 |
Ans04 : f(x)| 225 | 196 | 169 | 144 | 121 | 100 | 81 | 64 | 49| 36 | 25| 16| 9| 41 11| O] 11 41 91 16 | 25|
Ans05 : f(x)| 228 | 199 | 172 | 147 | 124 | 103 | 84 | 67 | 52| 39| 28| 19| 12| 7| 41 31| 41 71 121 19| 28|
AnsO6 : f(x)| 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 | 01 -2 5 6 | 7 8 | 9! 10 | 11 | 12 | 13 | 14 | 15 |
Ans07 : f(x)| 11| 10| 91| 81| 71| 61| 5| Na| -6| -4 -2 0| 0] 0| O} O] O] O] O] 01 0]
Ans08
f(x)=3x-4
f(-5)=-19, ,f(-4)=-16, ,f(1)=-1, ,f(2)=2, ,f(3)=5
Ans09
—x+3 ; x<-2
f(x):[ }
2x-2 ; x> -2
f(-2)=N4, ,f(0)=-2, ,f(1)=0, ,f(3)=4, ,f(4)=6
Ans010
2x-1 x < -1
f(x)=|=x+1 ,; -I<=x<=2
-1 N x> 2
f(-3)=-7, ,f(-)=2, ,f(0)=1, ,f(2)=-1, ,f(4)=-1
. -1 .
Ansl1 = [["Parabola", Vertext =(5,2)]], Ansi2 = "L1ne",Slopez:,y—interceptz(o,5) , Ansi3 =[["Circle", Center = (-5, -4), Radius = 13]], R
Ansl4=[(x+ 1Y+ (y+5) =58]
Ansl5
x | -0 -9 -8 -7 -6 -5 -4} 3] -2/ -1 o} 11 2| 3| 4| 5| 61| 71 81 91 10|
f(x)| -81 | -62 | =45 | =30 | -17 | -6 | 3] 10 15| 18 | 19 | 18 | 15 | 10 | 31 -6 | -17 | -30 | -45 | -62 | -81
g(x)| =17 | -6 | 3| 10 15| 18 | 19 | 18 | 15 | 10 | 31 -6 1] -17 | -30 | -45 | -62 | -81 |-102 |-125 |-150 |-177
h(x)| -74 | =55 | =38 | =23 | =10 | 1 | 10 | 17 | 22 | 25| 26 | 25| 22| 17 | 10 | 1 | -10 | -23 | -38 | -55 | -74 |
k(x)|-125 |-102 | -81 | -62 | =45 | =30 | -17 | -6 | 31 10| 15| 18 | 19 | 18 | 15 | 10 | 31 -6 -17 | =30 | -45
Ansl6 =[A(t)=61t+70, A(200)=1270, A(0)="70]

(110 —x)

X
Ans17=[A(x) = . A(20) =900, A(30) = 1200, A(50) = 1500}

Ansl8 =[V(x)=(10-2x) (18 =2 x)x, V(2) =168, V(2.5) = 162.500, V(3) = 144]
Ans19=[V(x)=190 (120 — 2 x) x, V(5) = 104500, V(10) = 190000, V( 15) = 256500, V(20) = 304000 ]

Ans20 = [C(x) = 26000 4/ 64 + x* + 480000 — 30000 x, C(3) = 612144.0974, C(5) = 575283.5094, C(7) = 546383.7911, C(10) = 512962.4602 |
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TutorialO3 Answers for No.6310002

x| -10| -9 -8 -7 -6 -5 -4 -3 -2 -1 O} 1 21 3| 41 51 61 71 81 91 10
Ans0O01 : f(x)| -6 | -6| -6| -6| -6 -6| -6 -6 -6| -6| -6 -6| -6| -6 -61] -6/ -6] -6/ -6 -6/ -6
Ans0O2 : f(x)| -23 | -21 | -19 | -17 | =15 | -13 | =11 | -9 | -7 1| -5 =3 | -1 | 1| 3 | 5 | 7 91 11 | 13 | 15 | 17 |
Ans03 : f(x)| 94 | 75| 58 | 43| 30| 19| 10| 3| -2 =51] =61 =51 =21 3] 10| 19| 30 | 43 | 58 | 75| 94 |
Ans04 : f(x)| 49 | 36 | 25| 16| 9| 4] 1| O] 11 41 91 16 25| 36| 49 | 64 | 81 | 100 | 121 | 144 | 169 |
Ans05 : f(x)| 43 | 30 | 19 | 10 | 31 -2 1 -5 -6 =51 -2/ 3] 10| 19| 30 | 43 | 58 | 75| 94 | 115 | 138 | 163 |
Ans06 : f(x)| 9 | 8 | 7 6 | 5 | 4 | 3 ] NA | 1| 3| 5 7 91 11| 13 | 15| 17 | 19 | 21 | 23 | 25 |
Ans07 : f(x)| -12 | =11 | =10 | -9 | -8 | =7 | =61 =51 =4 | -4 -4 ] =4 | =61 -8 | -10 | -12 | -14 | -16 | -18 | -20 | -22 |
Ans08
f(x)=2x-5
f(-5)=-15, ,f(-4)=-13, ,f(-1)=-7, ,f(2)=-1, ,f(5)=5
Ans09
x+1 ,; x<1
f(x)‘[zx—z ; x>:]}
f(-4)=5, ,f(-1)=2, ,f(1)=0, ,f(2)=2, .f(4)=6
Ans010
x—3 N x<=-3
f(x)=|2x+2 ; -3 <x<3
-4 ; x> 3
f(-4)=-7, ,f(-3)=-6, ,f(2)=-2, ,f(3)=N4, ,f(4)=-4
. -1 .
Ansll = [["Parabola", Vertext =(4,-3)]], AnsI2=|| "Line", Slopez;,y—interceptz(O, -2) ||, Ansl3=[["Circle", Center = (-2, 1), Radius =111]], ,
Ansl4=[(x+2) " +(y—-5)"=26]
Ansl5
x | -0 -9 -8 -7 -6 -5 -4} 3] -2/ -1 o} 11 2| 3| 4| 5| 61| 71 81 91 10|
f(x)| -87 | -68 | =51 | =36 | =23 | =12 | =3 | 4| 9| 12| 13| 12| 9| 4| =3 ] -12 | -23 | -36 | -51 | -68 | -87 |
g(x)| -36 | =23 | -12 | -3 | 4 | 91 12 | 13 | 12 | 9 | 41 -3 | -12 | -23 | -36 | -51 | -68 | -87 [-108 |-131 |-156
h(x) |-243 |-212 |-183 |-156 [-131 |-108 | -87 | =68 | =51 | =36 | =23 | =12 | =3 | 4 | 9| 12 | 13 | 12| 9| 4| =3 |
k(x)| -74 | =55 | =38 | =23 | =10 | 1 | 10 | 17 | 22 | 25| 26 | 25| 22| 17| 10| 1 | -10 | -23 | -38 | =55 | -74 |
Ansl6=[A(t)="71t+ 130, A(200) = 1530, A(0) =130]
(70 —x)x
Ansl7 = A(x):T,A(ZO):500,A(30):600,A(50):500

AnsI8=[V(x)=(18—-2x)(25-2x)x, V(2) =588, V(2.5) = 650.000, V(3) = 684]
Ans19=[V(x) =200 (100 -2 x) x, V(5) = 90000, V(10) = 160000, V(15) = 210000, V(20) = 240000 ]

Ans20 = [C(x) = 20000 4/ 25 + x> + 840000 — 40000 x, C(3) = 836619.0379, C(5) = 781421.3562, C(7) = 732046.5053, C(10) = 663606.7978 |
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TutorialO3 Answers for No.6310003

x| =-101] -9 -8 -7 -61] -5 -4 -3 -2 -1 O} 121 211 3| 41 51| 61 71 81 9] 10 |
Ans01 : f(x)| -4 | -4 | =4 | -4 | =4 | -4 | =4 | -4 | -4 | =4 | -4 | -4 | -4 | -4 | =4 | -4 | -4 | -4 | -4 | -4 | -4 |
Ans02 : f(x)| 26 | 24 | 22| 20| 18 | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 | ol -2 1 -4 -6 1| -8 1] -10 | -12 | -14 |
Ans03 : f(x)| 97 | 78 | 61 | 46 | 33 | 22| 13| 6| 1| =21 =31 -2 1] 61 13| 22| 33| 46| 61 | 78 | 97 |
Ans04 : f(x)| 196 | 169 | 144 | 121 | 100 | 81 | 64 | 49 | 36 | 25 | 16 | 9 | 4 | 1] 0 | 1] 4 | 9| 16 | 25 | 36
Ans05 : f(x)| 193 | 166 | 141 | 118 | 97 | 78 | 61 | 46 | 33| 22| 13| 6| 1| -2 =31 =21 1| 6] 13| 22| 33|
AnsO6 : f(x)| -14 | -13 | -12 | =11 | =10 | -9 | -8 | =7 | -6 | 3 1!/ -r! -3/ -5 =71 -9 | -11 | =13 | =15 | -17 | -19
Ans07 : f(x)| 19| 17 | 15| 13| 11} 9| 7| 5| 3| -3 -2 N | -1] -1 -1 -1 -1 -1 -1 -11] -1
Ans08
f(x)=3x+6
f(-4)=-6, ,f(-3)=-3, ,f(-1)=3, ,f(0)=6, ,f(4)=18
Ans09
x—-1 ; x<=-2
f(x)_[—Zx—l x>—2}
f(-4)=-5, ,f(-3)=-4, ,f(-2)=-3, ,f(2)=-5 ,f(4)=-9
Ans010
2x+1 x< -3
flx)=| x+1 ; -3<=x<1
0 N x> 1
f(-3)=4, ,f(-1)=2, ,f(0)=1, ,f(1)=N4, ,f(2)=0
3 %
Ansl1 =[["Circle", Center = (2, 3), Radius =3]], Ansi2 = "Line",Slopez:,y—interceptz(o, -2) ||, Ans13 =[["Parabola", Vertext=(3,-5)]], NN
(
Ansl4=[(x-3)Y+(y-1)"=37]
Ansl5
x | -0 -9 -8 -7 -6 -5 -4} 3] -2/ -1 o} 11 2| 3| 4| 5| 61| 71 81 91 10|
f(x)| -83 | -64 | -47 | =32 | =19 | -8 | 1| 8] 13| 16 | 17| 16 | 13| 8| 1| -8 | -19 | =32 | -47 | -64 | -83 |
g(x)|l =90 | =71 | =54 | -39 | -26 | -15 | -6 | 1] 6 | 9 | 10 | 9 | 6 | 11 -6 -15 | -26 | -39 | =54 | -71 | -90
h(x)| -19 | -8 | 1| 8] 13| 16 | 17 | 16 | 13 | 8 | 1 | -8 | -19 | =32 | -47 | -64 | -83 |-104 [-127 [-152 [-179 |
k(x)|-208 |-179 |-152 |-127 |-104 | -83 | -64 | -47 | =32 | -19 | -8 | 1| 8| 13| 16| 17 | 16| 13| 8| 1| -8 |
Ansl6=[A(t)=6t+ 80, A(200)= 1280, A(0)=280]
(140 —x) x
Ansl7 =| A(x)=—"""",A(20)=1200, A(30) = 1650, A(50) = 2250
Ans18=[V(x)=(14-2x) (19-2x)x, V(2)=300, V(2.5)=315.000, V(3)=312]
Ans19=[V(x)=130(80—-2x)x, V(5)=45500, V(10) = 78000, V(15)=97500, V(20) = 104000 ]
Ans20 =[C(x) = 20000 ~/ 25 + x> + 480000 — 30000 x, C(3) = 506619.0379, C(5) = 471421.3562, C(7) = 442046.5053, C(10) = 403606.7978 ]
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TutorialO3 Answers for No.6310004

x| -10| -9 -8 -7 -6 -5 -4 -3 -2 -1 O} 1 21 3| 41 51 61 71 81 91 10
ApsO1 : f(x)/ 1 2 1 2 1y} 212 19} 1. 1} 1 1| 1 1y 1 1 1 1| 11 1.1 11 11
Ans02 : f(x)| -27 | -24 | -21 | -18 | =15 | =12 | -9 | -6 | -3 | 01 3] 6 | 9 | 12 | 15| 18 | 21 | 24 | 27 | 30 | 33|
Ans03 : f(x)| 97 | 78 | 61 | 46 | 33 | 22| 13| 6| 1| -2 =31 =21 1] 61 13| 22| 33| 46| 61| 78 | 97 |
Ans04 : f(x)| 81 | 64 | 49| 36| 25| 16| 9| 41 11 01 1] 41 9] 161 25| 36| 49| 64 | 81 | 100 | 121 |
Ans05 : f(x)| 78 | 61 | 46 | 33| 22| 13| 6| 1| -2 =3 -2 1| 6] 13| 22| 33| 46| 61 | 78 | 97 | 118 |
Ans06 : f(x)| 9 | 8 | 7 6 | 5 | 4 | 3 2 | 1| o1 -1 4 | 6 | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 |
Ans07 : f(x)| -19 | =17 | -15 | =13 | =11 | -9 | -7 | -5 1| 1| 1] 1| O] =11 =21 =31 =41 =51 -61 =71 -8
Ans08
f(x)=3x+2
f(0)=2, ,f(2)=8, .f(3)=11, ,f(4)=14, ,f(5)=17
Ans09
x-3 ;ox< -2
f(x)‘[—zx—z ; x>—2}
f(-4)=-7, ,f(-2)=N4, ,f(-1)=0, ,f(l)=-4, ,f(2)=-6
Ans010
1 N x< -1
f(x)=| x+2 ; -1 <x<1
2x+2 x> 1
f(-3)=1, ,f(-2)=1, ,f(-1)=N4, ,f(1)=N4, ,f(4)=-6
2)
Ansl1 =[["Line", Slope = 3, y-intercept = (0, 1)]], Ansi2=[["Parabola", Vertext=(1,5)]], Ansi3 =[["Circle", Center =(2, 1), Radius =31]], NN
N
Ansl4=[(x—4) +(y—-3)"=50]
Ansl5
x | -0 -9 -8 -7 -6 -5 -4} 3] -2/ -1 o} 11 2| 3| 4| 5| 61| 71 81 91 10|
f(x)| -81 | -62 | =45 | =30 | -17 | -6 | 3] 10 15| 18 | 19 | 18 | 15 | 10 | 31 -6 | -17 | -30 | -45 | -62 | -81
g(x)| -63 | -44 | -27 | -12 | 1|1 12| 21| 28] 33| 36| 37| 36| 33| 28| 21| 12 | 1| -12 | =27 | -44 | -63
h(x)| =92 | =73 | -56 | -41 | =28 | =17 | -8 | =1 | 4 71 8 71 4] =11 =8 =17 | -28 | =41 | =56 | =73 | =92 |
k(x)| -45 | =30 | =17 | -6 | 31 10| 15| 18 | 19 | 18 | 15 | 10 | 31 -6 -17 | -30 | -45 | -62 | -81 |-102 |-125
Ansl6=[A(t)=51t+60, A(200)= 1060, A(0)=60]
(90 —x)x
Ansl7 = A(x):T, A(20) =700, A(30) =900, A(50) = 1000

AnsI8 =[V(x)=(20-2x)(25-2x)x V(2) =672, V(2.5) = 750.000, V(3) = 798]
Ans19=[V(x)=110 (50— 2 x) x, V(5) = 22000, V(10) = 33000, V(15) = 33000, V(20) = 22000 ]

Ans20 = [C(x) = 28000 4/ 81 + x* + 544000 — 32000 x, C(3) = 713631.3235, C(5) = 672277.6439, C(7) = 639249.1190, C(10) = 600701.4734 ]
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TutorialO3 Answers for No.6310005

PRQEEIENG

x| =-101] -9 -8 -7 -61] -5 -4 -3 -2 -1 O} 121 211 3| 41 51| 61 71 81 9] 10 |
Ans01 : f(x)| -11] -1 -1 -1 -1 -11] -1 -1 -1 =11 =11 =1 =11 =11 =11 =11 =11 =11 =11 =11 =11
Ans02 : f(x)| -31 | -28 | -25 | -22 | -19 | -16 | =13 | =10 | -7 | -4 | -1 | 2 | 5 | 8 [ 11 | 14 | 17 | 20 | 23 | 26 | 29
Ans03 : f(x)| 101 | 82 | 65| 50| 37| 26| 17| 10| 5| 21 1| 21 5] 10| 17| 26| 371 50| 65| 82 | 101 |
Ans04 : f(x)| 49 | 36 | 25 | 16 | 91 41 1| o1 11 4] 9 | 16 | 25| 36 | 49 | 64 | 81 | 100 | 121 | 144 | 169 |
Ans05 : f(x)| 50 | 37 | 26| 17 | 10| 5| 2 | 11 21 51 101 171 261 37| 50 | 65| 82| 101 | 122 | 145 | 170 |
AnsO6 : f(x)| 17 | 15 | 13 | 11 | 9 | 7 5 | 3 11 -1 =31 =51 =71 =9/ 1] 2 | 3] 4 | 5 | 6 | 7
Ans07 : £(x)| 5| 41 31 21 1] 0] =11 =21 =81 =61 =41 =2 =21 =21 =21 =21 =21 =21 =21 =21 =2
Ans08
f(x)=-3x+1
f(-5)216, 5f(1):_25 7f(2):-57 5f(3):_85 7f(5):-14
Ans09
x+1 ox< [
f(x =[ ’ }
(x) 2x+2 ; x>=1
f(-3)=-2, ,f(-1)=0, ,f(0)=1, ,f(1)=0, ,f(2)=-2
Ans010
—x+1 x<=-3
f(x)=|2x+1 ; -3 <x<=2
5 N x> 2
f(—3):4, af(_l):'ls ,f(O):l, ,f(2):5, 7f(4):5
. . 3
Ansll =[["Circle", Center = (-5, 1), Radius = 10]], Ansi2 =[["Parabola", Vertext=(3,1)]], Ansi3=|| "Line", Slopezz,y—interceptz(o,—1) R s
Ansl4=[(x=5Y+(y-3)=72]
Ansl5
x | -0} -9 -8 -7 -6 -5 -4 -3| -2/ -1} o 1| 211 311 41 51| eI 71 81 91 10|
f(x)| -83 | -64 | -47 | =32 | -19 | -8 | 10 81 13| 16| 17 | 16 | 13 | 8 | 1| -8 -19 | =32 | -47 | -64 | -83 |
g(x)| -92 | =73 | -56 | -41 | =28 | -17 | -8 | -1 | 4 | 7 8 | 7 41 -1 1| -8 -17 | -28 | -41 | =56 | =73 | -92 |
h(x)| =77 | -58 | =41 | =26 | =13 | =2 | 7 | 14| 19| 22| 23| 22| 19 | 14 | 7| =2 | =13 | =26 | =41 | =58 | =77 |
k(x)|-127 |-104 | -83 | -64 | =47 | =32 | -19 | -8 | 11 81 13| 16 | 17 | 16 | 13 | 8 | 11 -8 1 -19 | =32 | -47 |
Ansl6=[A(t)=41t+ 60, A(200) =860, A(0)=60]
(170 —x)

X
Ansl7 = {A(x) = . A(20) = 1500, A(30) = 2100, A(50) = 3000}

AnsI8=[V(x)=(15-2x) (20 -2 x)x, V(2) =352, V(2.5) = 375.000, V(3) = 378]
Ans19=[V(x) =260 (90 — 2 x)x, V(5) = 104000, V(10) = 182000, V(15) = 234000, V(20) = 260000 ]

Ans20 = [C(x) = 26000 4/ 64 + x* + 756000 — 42000 x, C(3) = 852144.0974, C(5) = 791283.5094, C(7) = 738383.7911, C(10) = 668962.4602 |
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TutorialO3 Answers for No.26

PRQEEIENG

x| -10| -9 -8 =71 =61 =51 =41 =31 =21 -11 0] 11 21 31 41 51 6 1 7 8 | 9 [ 10 |
Ans01 : f(x)| 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 |
Ans02 : f(x)| 24 | 22| 20| 18 | 16 | 14 | 12 | 10 | 8 | 6 | 4 ] 2| o} -2 -41] -6 -8 ] -10 | -12 | -14 | -16
Ans03 : f(x)| 103 | 84 | 67 | 52| 39| 28| 19| 12| 7| 41 31| 41 7] 12| 19| 28| 39| 52| 67| 84 | 103 |
Ans04 : f(x)| 64 | 49 | 36| 25| 16| 91| 4 1| O 1| 4] 9 16| 25| 36 | 49 | 64 | 81 | 100 | 121 | 144 |
Ans05 : f(x)| 67 | 52 | 39| 28| 19| 12| 7| 41 31 41 7] 12| 19| 28| 39| 52| 67| 84 | 103 | 124 | 147 |
AnsO6 : f(x)| 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | 4 | 3 | 2 1 o 11| 13| 15| 17 | 19 | 21 | 23 | 25 |
Ans07 : f(x)| -18 | -16 | -14 | -12 | -10 | -8 | -6 | -4 | NA| 6| 5| NA| 4| 41 4| 4| 4| 4| 4 41| 4
Ans08
f(x)=-3x-2
f(-5)213, Df(-4):105 7f(0):-27 5f(3):_113 ,f(5)2-17
Ans09
2x+2 ; x<=-]
f(x):[ }
x+3 ;x> -1
f(-4)=10, ,f(-1)=4, ,f(0)=3, ,f(1)=4, ,f(2)=5
Ans010
2x+1 x< -2
f(x)=| x+2 ; -2<=x<3
5 N x>=3
f(_3):79 af(_z):()a af(o)zza af(l):33 af(3):5
: . . -4
Ansll =[["Circle", Center = (3, 4), Radius = 10]], Ans12=|| "Line", Slope:;,y—mterceptz(o,3) , Ansi3 =[["Parabola", Vertext=(1,-5)]], s
Ansl4=[(x-2) " +(y+1)"=29]
Ansl5
x | -10| -9 -8 -7 =61 =51 -4 =31 =21 -1/ ol 11 211 31 41 5] 61 7 8 | 9 | 10 |
f(x)| -81 | -62 | =45 | =30 | -17 | -6 | 3] 10 15| 18 | 19 | 18 | 15 | 10 | 31 -6 | -17 | -30 | -45 | -62 | -81
g(x)|-206 |-177 |-150 [-125 |-102 | -81 | -62 | -45 | =30 | =17 | -6 | 3| 10| 15| 18 | 19 | 18 | 15 | 10 | 31 -6
h(x)| -91 | -72 | =55 | -40 | =27 | -16 | -7 | O | 51 8| 91 81| 51| 0] =71=-161] -27 | -40 | =55 | =72 | -91 |
k(x)| -65 | -46 | =29 | -14 | -1 | 10| 19| 26| 31| 34| 35| 34| 311 26| 191 10| -1 | -14 | -29 | -46 | -65

Ans16=[A(t)=5t+60, A(200) = 1060, A(0) = 60]

(100 —x)

X
Ansl7 = [A(x) = . A(20) =800, A(30) = 1050, A(50) = 1250}

AnsI8=[V(x)=(12-2x) (20 -2 x)x, V(2) =256, V(2.5) = 262.500, V(3) = 252]
Ans19=[V(x)=190 (70 — 2 x)x, V(5) = 57000, V(10) = 95000, V(15) = 114000, V(20) = 114000]

Ans20 = [C(x) = 20000 4/ 25 + x* + 840000 — 42000 x, C(3) = 830619.0379, C(5) = 771421.3562, C(7) = 718046.5053, C(10) = 643606.7978 |
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